13000 GeV pp Jets
= [ rrrrrro T e T T T T | 12
=2 - : : 13
S o Radial profile p (ATLAS jet fragmentation) 13
5 140 — —=
S - m  ATLAS e
= ~  —— Pythia 6.428 350 n
120 — --&-- Pythia 6.428 351 —3
— - ¥-- Pythia 6.428 352 e
- A Pythia 6.428 353 1%
. >
100 — --©-- Pythia 6.428 354 —r
- Pythia 6.428 355 7
I - Pythia 6.428 356 i
80 — Pythia 6.428 357 —
B Pythia 6.428 358 19
| -~ Pythia 6.428 359 &
60 —* —3
L i Nep)
\ —
L .2
L \‘ .
40 — |\ — S,
— t —
\ Q
R Bi=
0 | 18
B lﬁ\\\ | 8
: EC::: : 8
o e 2 E
2 & -2
" — _
< - ‘__*__A_-_A---A-—*--A—--A---A--*—-A—- “A--h--k-ch oA Ay 4o
b B e B an i a -%M—Qﬁﬂm@, @
e 1 - ¥ v V- V- Y-y .y @— 1
e B Yoy 7
E I —]
m — —
0.5 —0.5
| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |




	Contents
	Page 1


